
1. A square based prism has a volume of 64. Calculate the base.


2. The radius of the Earth’s orbit is 9.3 x miles.  Calculate:
(a) the diameter
(b) the circumference of the orbit, giving your answer in standard form.
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The cube and the cuboid below have the same volume.
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Calculate the height of the cuboid.
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2. For the following prisms find i) the area of the cross section
ii)the volume of the prism
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Convert the following numbers into scientific notation:

1) 3400
2) 0000023
3) 101000
4 0010

5 4501

6) 1,000,000
7) 000671

8) 450
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Convert the following numbers into standard notation:

9)  230x10*

10) 176x10°

11)  1.901x107

12) 865x10"

13)  9.11x10°

14) 540x10"

15) 1.76x10°

16) 74x10°




oleObject3.bin

oleObject4.bin

image1.wmf
3

cm


oleObject1.bin

